£AR WECPNL B K {E (dB) A B R 2
2013181 | ——— | @ — -l
20131320 |  —— | = ——- -l
20131830 |  —— | — -l
2013%¢1f40 |  ——— | = — -l
20131850 |  ——— | = —— -l
2013160 |  —— | = ——- -l
201341/ 7H 12.8 92.3 11:38
20135%£1RA8H 75. 8 92.8 8:50
201341 R9H 19.0 94.6 9:50
201341810H 81.8 94.8 13:02
2013%1811H 11.5 91.2 8:55
2013181208 |  ——— | = ——l-=
20131130 |  —— | = -l
2013418148 61.2 18.3 11:35
2013418 15H 11.5 87.3 13:01
2013418 16H 12.0 87.9 9:42
2013%1R17H 67.7 86.4 13:01
2013418 18H 15.7 93.2 8:51
201314190 |  —— | - —i—=
201314200 |  ——— | = —— -l
2013%1R21H 18.6 97.4 8:44
2013418 22H 13. 6 89.8 14:44
201341R23H 18.2 93.2 17:32
2013418 24H 11.6 93.4 11:4
2013418 25H 58.4 11.2 13:23
2013184260 |  ——— | = ——— —l-=
201341R27H 51.9 18.9 11:11
2013418 28H 15. 6 92.4 17:22
201341R29H 75.1 93.8 11:44
2013418 30H 13.1 92.5 13:54
201341R31H 15.0 92.5 9:03




“AH WECPNL K {iE (dB) B K R B 2
2013%F2A1H 11.3 93.7 8:56
2013%¢2824 | @ —— | i
2013%¢2Q83g | —— | @ @ — I
201342H4H 19.6 91.0 18:44
2013%F2AH5H 16. 1 96.4 15:47
201342H6H 11.6 87.8 19:02
2013%F2A7H 19.1 90.6 8:06
20132884 | @ —— | @@ — i
201342898 | @ —— | —— o
201328108 | —— | —— —
2013281108 | -—— | ——— e
2013281288 | —— | —— o
2013428138 |  —— | ———- .
201328148 |  —— | —— o
2013428158 |  -—— | @ ——— o
201328168 | —— |  —— P
20134281708 |  —— | ———- o
201328188 |  —— | @ —— P
2013428198 | @ —— | ———- o
201328208 | @ —— |  —— P
20134282168 |  -—— | ——— o
20132828 |  ——— | —— P
2013428238 | @ —— | ——- o
20134282480 | @ -—— | ——— .
201328258 | @ —— | @ ——— S
201328268 |  —— | @ —— P
2013282708 | —— | —— I

201352 A 28H




$£AHA WECPNL B K{E (dB) A E A2
20133818 |  —— | —— S
20133828 | —— | —— S
20133838 |  —— |  —— -
20133848 |  —— |  —— .
20133858 |  —— |  —— S
20133868 |  —— |  —— .
20133878 |  ——0 | —— -
20133888 |  —— |  —— S
20133898 |  —— |  —— S
201338108 | —— | —— B
2013238118 | —— | —— .
201338128 | —— | —— B
201338138 | —— |  —— S
201338148 |  —— |  —— B
2013238158 |  —— | —— S
201338168 |  —— | —— S
2013238178 | —— | —— S
2013238188 | —— |  —— B
201338198 | —— |  —— S
201338208 |  —— | @ —— S
2013238218 |  —— |  —— S
2013238228 | —— |  —— S
201338238 | —— |  —— S
201338248 | —— | —— e
2013238258 |  —— |  —— S
2013238268 |  —— |  —— B
201338278 |  —— |  —— .
201338288 |  —— | @ —— B
201338298 |  —— | @ —— S
2013238308 | —— |  —— B
201343H318 58. 1 74.2 14:06




$£AH WECPNL = X{E (dB) R E& A
201344/ 1H 14. 6 90.9 9:55
20135428 11.8 88.3 8:55
201344/ 3H 16. 7 89.8 13:14
20135£4R48 13.9 95.0 8:47
201344/ 5H 15.8 95. 1 11:46
20134460 | ——— | = ——- -l
2013480 |  ——— | = — -l
20135£4A8H 75.5 90.0 18:39
201344/ 9H 83.0 93.7 18:34
2013448108 82.5 92.6 13:13
2013448118 12.8 91.7 13:05
2013448128 16. 8 93.1 11:45
201348130 |  —— | = —— — =
2013448148 50. 2 12. 4 20:03
201344/ 15H 16. 1 88. 17:42
2013448 16H 82.4 100. 3 17:50
201344/ 17H 60. 4 81.9 14:36
2013448 18H 67.3 86. 14:38
201344R19H 15.3 80.9 12:58
20134442008 |  —— |  —— -l
201354H21H 51.2 18.2 10:55
2013448 22H 13.1 86.5 8:43
201344/ 23H 19.5 96. 4 18:00
2013448248 68. 7 93.4 14:48
2013448 25H 68. 0 85. 1 9:41
2013448 26H 45. 6 12.6 9:55
201344R27H 67.7 87.6 9:18
201348280 |  —— | = —— -l
2013%¢48290 |  —— |  —— =
2013448 30H 84. 17 97.8 18:57




$£AH WECPNL = X{E (dB) R E& A
20134%5A1H 12.4 86.9 18:52
201355 RA2H 67.5 83.9 13:14
2013%¢5830 | —— | = —— St i
201345448 | ——— | = ——- =
2013%¢5850 |  —— | = —— St
2013560 | —m | = - ——
201345R7H 70. 1 85. 1 9:22
20135£5A8H 14.3 90.0 9:28
2013458 9H 10. 2 87.4 11:33
2013458 10H 51.5 13.0 15:10
201345R811H 63.8 82.0 10:24
201354120 |  —— | ——— -l
2013458 13H 14.9 89.2 10:58
2013458 14H 13.1 86.5 16:58
201345A15H 11.8 90. 8 14:13
2013458 16H 69. 8 87.8 10:52
201345R17H 13.8 91. 1 8:10
2013541846 |  —— | = ——— -l
2013%5H19H 59.0 85. 4 9:56
2013458 20H 16.5 92.7 8:52
201345A21H 11.0 98.5 15:18
2013458 22H 67.1 83. 1 14:44
201345A23H 65. 1 84.1 13:51
2013458 24H 64. 3 79.9 16:58
201358250 |  —— | = — =
2013%¢58260 |  —— | = —— -l
201345A27H 19.9 91.3 18:09
2013458 28H 82.8 92.0 8:52
2013458 29H 76.0 92.6 13:00
2013458 30H 65. 8 83. 1 8:52
201345A31H 13.2 91.5 13:53




$£AH WECPNL B K {E (dB) BRAEER R
2013%¢6A10 | ——— | = — -l
20136820 |  —— | = — -l
201346 A 3H 13.6 88.3 19:12
20135£6 A48 81.5 100. 8 19:11
201346 A5H 19. 1 99. 1 14:43
20135£6 A 68 69.0 87. 1 8:35
20134%6R7H 61.0 80.8 8:45
20134¢6H88 | —— | = ——- -l
2013%¢6R90 | ——— | = —— -l
2013468 10H 85. 2 99.1 18:09
201346R11H 18.8 95.6 14:58
2013468 12H 13.8 91.9 9:47
201346 R 13H 64. 7 83.3 11:13
2013468 14H 68. 6 84.1 15:20
2013%64150 |  — | = —— — =
2013%¢6H1606 |  —— | = —— -l
20134£6R17H 12.9 90. 1 18:55
2013468 18H 82.4 92.1 15:26
20134£6R19H 84.8 92.5 11:47
2013468 20H 58. 3 85.3 13:50
2013%¢68210 | —— | = ——- -l
2013%¢6H2260 |  —— | = ——— -l
2013%¢68A230 |  — | = ——— -l
2013468 24H 13.5 87.5 16:47
201346A25H 13.17 87.17 12:01
2013468 26H 14.4 95.0 15:40
20134£6R27H 68. 8 83.9 16:12
20134¢6H280 |  —— | = ——— -l
2013%¢682900 |  — | = —— — =

20136 H30H




£AR WECPNL B K {E (dB) A B R 2
2013 TR 1H 64. 2 85.9 9:33
20135%7R28 16. 3 92. 1 19:25
20134 TR 3H 70.3 86.0 8:57
201357R48 13.17 90.7 11:36
20134 TR5H 65.0 84.9 16:52
2013%¢760 | ——— | = ——- -l
20137470 |  —— | = — -l
201357R8H 19.7 96. 1 19:17
20134 TR 9H 12. 4 86. 3 16:27
20134 7R10H 10. 2 87.5 9:51
2013 7R 11H 69. 1 87.6 11:43
20134 7R 12H 11.8 90.5 10:53
201374138 |  —— | = —— — =
201374148 |  ——— | = —— -l
20134 7R 15H 62.0 86. 3 12:03
20134 7R 16H 14.0 88.3 16:03
2013 7R17H 68. 1 85. 1 13:04
20134 7R 18H 10. 4 88. 6 11:42
2013 7R 19H 59.0 19.3 9:51
201374200 |  —— | = —— -l
201378210 |  —— | = — -l
20134 7R 22H 14.1 92.0 14:04
20134 7R 23H 14.7 92.4 9:32
20134 7R 24H 14.5 91.5 9:32
20134 7R 25H 11.4 92.3 8:04
201374260 |  —— | = ——— -l
2013782 |  ——— | = - — =
201374280 |  —— | = —— -l
20134 7R 29H 14.4 89.9 18:34
20134 7R 30H 13.6 91. 1 9:44
20134 7R31H 69. 89.4 11:45




$£AH WECPNL = X{E (dB) R E& A
201348/ 1H 66. 1 82.5 11:42
20135£8A2H 11.5 91.3 14:51
201348430 |  —— | = —— —l-=
20138440 |  —— | = — =
201348A5H 13. 1 90.8 13:00
20135868 13.0 87.4 20:10
201348ARTH 1.1 91. 1 9:42
20135£8A8H 68. 7 88.0 8:46
2013%8A9H | ——— |  ——- —l-=
201388100 |  ——— | -l
20138411 |  —— | = -l
2013881206 |  —— | = — =
201384130 |  —— | —l-=
201388140 |  —— | = — =
201384150 |  —— | —l-=
201388160 |  —— | = - — =
201384170 |  —— | = —i—=
201384180 |  — | = —— -l
20134£8R19H 70. 1 86.5 11:4
201348A20H 75.3 88.4 18:57
201348A21H 66.0 82.4 12:37
201348A22H 68. 1 84.5 8:59
201348A23H 12.5 91.8 11:27
201384240 |  ——— | = —— —l-=
201348A25H 52.3 11.5 13:36
201348A26H 12.3 89.5 9:07
201348R27H 13.4 87.9 17:46
201348A28H 75.1 90.6 9:01
201348A29H 13.5 92.2 15:50
201348A30H 63.9 19.2

1:38

201348A31H




£AR WECPNL B K {E (dB) A B R 2
2013%¢9410 [ ——— | = — -l
20135%£9R2H 64. 3 84.9 9:57
201349/ 3H 62. 7 19.7 6:25
201359R4H8 16. 8 94. 4 11:02
201349/ 5H 12.2 86.0 13:42
20135£9R6H 12.4 86.6 14:37
201349/ 7H 68. 1 89.5 8:13
2013%¢9/88 |  ——— | = — -l
201349AR9H 12,7 87.4 20:06
2013498 10H 70. 8 86. 6 15:48
201349/ 11H 68. 2 87.0 12:57
2013498 12H 66. 8 84.5 8:36
201349/ 13H 69. 1 84.9 8:57
201394140 |  ——— | = —— -l
201394150 |  — | = —— -l
2013498 16H 11.8 82.1 2:23
201349/ 17H 15.2 92.0 18:28
2013498 18H 13.6 88.9 15:39
201349/ 19H 69.0 85. 4 9:17
2013498 20H 68. 5 86. 3 8:42
201349A21H 61.7 83.3 8:15
2013982206 |  — | = —— -l
2013¢98238 |  —— | = —— ——
2013498 24H 12.3 86. 1 15:45
201349AR25H 14.5 90.3 14:37
2013498 26H 16. 2 84.5 15:24
2013498 27H 13.0 94.7 9:46
2013 9H28H 49.9 16.9 8:10
2013%¢92290 | — | = -l
2013498 30H 13.4 94. 7 15:32




£AAB

WECPNL

= X{E (dB)

N LR

2013F10A1H

10.

92.

14:19

20134104 2H

1.

92.

13:04

20134 10H3H

68.

85.

9:58

20134108 4H

8:37

20135 10H5H

o1.

18.

12:57

20134 10H6H

65.

80.

10:32

2013F10A7H

4
4
2
12.8
2
5
)

14.

5
5
3
90.8
2
1
1

91.

14:57

2013410A8H

20134F10H9H

9:26

2013510/ 10H

16:00

2013%10A11H

12:55

2013510H12H

12:12

2013%10813H

2013410H 14H

2013%£10A 15H

2013410H16H

2013%£10A17H

20134104 18H

2013%£10A 19H

201310820R

2013%£10A21H

2013510/ 22H

2013%£10A 23H

2013%10A24H

20134108 25H

2013%10A26H

20135108 27H

2013%10A 28H

20134108 29H

2013%10R30H

2013410831H




£AAB

WECPNL

= X{E (dB)

PN LR

2013F11HA1H

2013411 A2H

201311 H3H

2013411848

201311 H5H

2013411H6H

201311 H7TH

2013411H8H

201311 H9H

201311 810R

201311 A11H

2013511 H12H

2013511 A13H

2013511 H14H

201311 A15H

2013511 H16H

201311 /817H

2013511 H18H

2013511 A19H

2013511 H20H

2013511 A21H

2013511 H22H

2013511 A23H

201311 824R

2013511 H25H

201311 A26H

2013511 H27H

2013511 A 28H

2013511 H29H

201311 A30H




£AAB

WECPNL

= X{E (dB)

N LR

2013F12A1H

20134128 2H

2013 12H3H

20134128 4H

2013F12H5H

2013412H6H

2013 12H7H

20134 12H8H

20135 12H9H

2013512H10H

2013%£12A11H

20135 12H12H

20135£12A13H

2013%12H14H

20135128 15H

2013%12H16H

2013%12A17H

2013%12H18H

20135F12A19H

2013512H20H

20135£12A21H

20135128 22H

2013512H23H

2013512A24H

20135 12H25H

2013512A26H

20135 12H27H

2013512 A 28H

20135128 29H

2013%12AR30H

20135 12H31H




